194-24-000247-STR

1. PRODUCT CERTIFICATIONS _ _ ial i i i i ildi
O O OF PREFABRIGATED BUILDINGS. REF. IAS REPORT NO. FAOS JOB NUMBER: 24-9076 DESCRIPTION: 80 x 100 x 17 special inspections per Table 1705.2 applicable to this building shall
CUSTOMER:  SP Construction SLOPE: 2.5:12 apply. submit all reports to: building@co.coos.or.us
2. MATERIALS SPECIFICATION ASTM DESIGNATION YIELD STRENGTH _ _
FLAT BAR. oo A572 FY = 50 KSI MIN PROJECT: ~ New Bus Barn STEEL COLOR: BLACK
STEEL PLATE......ciiiiiiiicic e A-572 FY =50 KSI MIN LOCATION: Bandon, OR 97411 BASE COND: Base Channel TABLE 1705.2
HOT-ROLLED MILL SHAPES. A 50D EY = 50 KSI MIN REQUIRED VERIFICATION AND INSPECTION OF STEEL CONSTRUCTION
CONNECTION PLATES A-572 FY =50 KSI MIN VERIFICATION AND INSPECTION | CONTINUOUS | PERIODIC | REFERENCED STANDARD?
BRACE RODS....c.c.cor e A-36 FY = 36 KSI MIN LOADING INFORMATION SHEETING TYPE AND COLOR — _
_ _ - 1. Material verification of high-strength bolts, nuts and washers:
COLD-FORMED LIGHT GAGE SHAPES........ A-570 FY = 55 KSI : — ROOF. SSQ275 Standing S S 4
ROOF AND WALL SHEETING (R PANEL)...... A-792-94 FY =80 KSI (GRADE E) RISK CATEGORY: Il - Substantial Facility ) N anding . eam, >auge: 2=, a. Identification markings to conform to ASTM standards and specified in the . X AISC 360, Section A3.3 and applicable
ROOF SHEETING (STANDING SEAM) A-446-76 FY = 50 KSI (GRADE D) BLDG. CODE: 0OSSC22(IBC 21) Color: Mt Hood White approved construction documents. ASTM material standards
18/2%235 """"""""""""""""""""""""""" gﬁifl)DE 5 CLOSED/OPEN: Enclosed WALL: PBR, Gauge: 26, Color: Mt Hood White b. Manufacturer’s certificate of compliance required. — X —
3. SECONDARY STRUCTURAL COATING EXPOSURE: C EAVE SOFFIT: None 2. Inspection of high-strength bolting:
FORMED FROM GALVANIZED PRODUCTS (G60) WIND SPEED: 120 MPH GABLE SOFFIT: None a. Snug-tight joints. — X
4. BUILDER/CONTRACTOR OR A/E FIRM RESPONSIBILITIES COLLATERAL LOAD: 5.00 PSF ROOF LINER: Gypsum Board (By Others) : - _ _
PACIFIC BUILDING SYSTEMS STANDARD PRODUCT SPECIFICATIONS FOR DESIGN, FABRICATION, _ 310 PSF + FRAME WT SW LINER: None b. Pretensioned and slip-critical joints using turn-of-nut with matchmarking, . X AISC 360,
QUALITY CRITERIA, STANDARDS AND TOLERANCES SHALL GOVERN THE WORK, UNLESS DEAD LOAD: : twist-off bolt or direct tension indicator methods of installation. Section M2.5
STIPULATED OTHERWISE IN THE CONTRACT DOCUMENTS. LIVE LOAD: 20.00 PSF EW LINER: 8'-0" Plywood (By Others) @ FL-1 ¢. Pretensioned and slip-critical joints using turn-of-nut without '
IN CASE OF DISCREPANCIES BETWEEN PACIFIC BUILDING SYSTEMS STRUCTURAL PLANS AND ROOF SNOW LOAD: 20.00 PSF GABLE TRIM: Black matchmarking or calibrated wrench methods of installation. X -
PLANS FOR OTHER TRADES, THE PACIFIC BUILDING SYSTEMS PLANS SHALL GOVERN. GROUND SNOW LOAD:  5.00 PSF EAVE TRIM: Black PV
. . - . aterial veritication ot structural steel:
IT IS THE RESPONSIBILITY OF THE BUILDER/CONTRACTOR TO OBTAIN APPROPRIATE APPROVALS GUTTER TRIM: Black — _
AND NECESSARY PERMITS FROM CITY, COUNTY, STATE, OR FEDERAL AGENCIES, AS REQUIRED. SNOW IMPORTANCE (Is): 1.10 CORNER TRIM' ac a. For structural steel, identification markings to conform to AISC 360. — X AISC 360, Section N2.1
 Black — -
ACCEPTANCE OF THE PACIFIC BUILDING SYSTEMS INTERPRETATION OF THE CONTRACT. , _ _
EARTHQ UAKE D ES I G N DATA JAMB TRIM: Black b. For 9ther§teel, identification markl_ngs to conform to ASTM standards o X Applicable ASTM material standards
ONCE THE BUILDER/CONTRACTOR OR A/E FIRM HAS SIGNED PACIFIC BUILDING SYSTEMS ' specified in the approved construction documents.
APPROVAL PACKAGE, CHANGES FROM THE CONTRACT BY THE BUILDER WILL BE BILLED TO THE DOWNSPOUT: Black o Manufacturer’s certified test renorts — —
BUILDER/ CONTRACTOR FOR MATERIAL, ENGINEERING, AND HANDLING FEES. SUCH CHANGES SEISMIC DESIGN CATEGORY: D BASE TRIM: Black : ports X
MAY CAUSE THE PROJECT TO BE MOVED FROM THE FABRICATION AND/OR SHIPPING SCHEDULE. SEISMIC IMPORTANCE EACTOR: 1.25 : 4. Material verification of cold-formed steel deck:
A PENALTY FEE MAY BE CHARGED IF THE PROJECT MUST BE MOVED FROM THE FABRICATION —
AND/OR SHIPPING SCHEDULE, AS LONG AS PACIFIC BUILDING SYSTEMS DESIGN AND DETAILING MAPPED SPECTRAL RESPONSE ACCELERATIONS INSULATION a. Manufacturer’s certified test reports. — X —
APPROACH COMPLIES WITH THE CONTRACT. SS 2.029  %g SMS 2435 %g 5. Material verification of weld filler materials:
THE BUILDER/CONTRACTOR OR A/E FIRM IS RESPONSIBLE FOR THE OVERALL PROJECT ] ) ROOF: 6" VRR (R-19) w/ R-3 Thermal Blocks @ FL 1-3 2. Identification markings to conform to AWS specification in the approved 'AISC 360, Section A3.5 and
COORDINATION. ALL INTERFACE AND COMPATIBILITY CONCERNING ANY MATERIALS NOT S, 0.966 %g Sy 1642 %g 2" VRR (R-7) w/ R-3 Thermal Blocks @ FL 3-5 construction documens — X aooliceble AWS A5 docamens
FURNISHED BY PACIFIC BUILDING SYSTEMS ARE TO BE CONSIDERED AND COORDINATED BY THE _ _ : pp
BUILDER/CONTRACTOR OR A/E FIRM. THESE PACIFIC BUILDING SYSTEMS ASSUMPTIONS SHALL SPECTRAL RESPONSE COEFFICIENTS WALLS: Banded Liner (R-25) w/ Thermal Tape @ LEW & b. Manufacturer’s certificate of compliance required. — X —
GOVERN UNLESS SPECIFIC DESIGN CRITERIA CONCERNING THIS INTERFACE BETWEEN MATERIALS Sidewalls FL 1-3 _ _
IS FURNISHED AS PART OF THE CONTRACT. Sos 1.353  %g Sy 1.095  %g >"VRR (R SEWESd L35 6. Inspection of welding:
THE BUILDER/CONTRACTOR IS RESPONSIBLE TO INSURE THAT ALL OTHER PROJECT PLANS AND \ R7) @ idewalls - a. Structural steel and cold-formed steel deck:
SPECIFICATIONS COMPLY WITH THE APPLICABLE REQUIREMENTS OF ANY GOVERNING BUILDING NOTE: IT IS THE CUSTOMER'S CCESSO 3 1) Complete and partial joint penetration groove welds y —
AUTHORITIES. A E R' E . . :
See Contract for Specifics - -
SUPPLYING SEALED ENGINEERING DESIGN DATA AND DRAWINGS FOR THE PACIFIC BUILDING RESPONSIBILITY TO VERIFY > 3070 Insuiated KnockDown Walk o m 2) Multipass fillet welds. X —
SYSTEMS BUILDING DOES NOT IMPLY OR CONSTITUTE AN AGREEMENT THAT PACIFIC BUILDING ) nsulated Rnock-Lown Walk Loor with harrow fite, 3) Single-pass fillet welds > %" X — AWS DL1
SYSTEMS OR ITS DESIGN ENGINEER IS ACTING AS THE ENGINEER OF RECORD OR DESIGN ALL THE DE S | G N C RITERIA Lever-lockset and Deadbolt 16 - -
PROFESSIONAL FOR THE CONSTRUCTION PROJECT. THESE DRAWINGS AND DESIGN DATA ARE 1) 3070 Insulated Knock-Down Walk Door with half glass 4) Plug and slot welds. X —
SEALED AS TO THE STRUCTURAL SYSTEM FURNISHED BY PACIFIC BUILDING SYSTEMS IN : - _ —
COMPLIANCE WITH ALL REQUIREMENTS OF THE CONTRACT. Lever-lockset and Deadbolt 5) Slngle-pass fillet welds > /16 . — X
THE BUILDER/CONTRACTOR IS RESPONSIBLE FOR SETTING OF ANCHOR BOLTS AND ERECTION OF 6) Floor and roof deck welds. — X AWS D1.3
STEEL BUILDING COMPONENTS IN ACCORDANCE WITH PACIFIC BUILDING SYSTEMS "FOR —
CONSTRUCTION" DRAWINGS. TEMPORARY SUPPORTS OR BRACING REQUIRED FOR THE BUILDING b. Reinforcing steel:
ERECTION WILL BE THE RESPONSIBILITY OF THE ERECTOR TO DETERMINE, FURNISH, AND INSTALL. 1) Verification of weldability of reinforcing steel other than ASTM A706. _ X
5. A-325 BOLT TIGHTENING REQUIREMENTS — — : — :
HIGH STRENGTH A-325 BOLTS SHALL BE TIGHTENED BY THE TURN-OF-THE-NUT METHOD IN 2) Reinforcing steel resisting flexural and axial forces in intermediate and
ACCORDANCE WITH THE LATEST EDITION, AISC SPECIFICATION FOR STRUCTURAL JOINTS USING special moment frames, and boundary elements of special structural X - AWS D14,
ASTM A-325 OR A-490 BOLTS. WASHERS ARE NOT REQUIRED WHEN A-325 BOLTS ARE TIGHTENED BY walls of concrete and shear reinforcement. ACI 318 Section 26.6.4
THE TURN-OF-THE-NUT METHOD. 3) Shear reinforcement. < —
THESE APPROVED PLANS SHALL S -
DISPOSITION OF OUTER FACE OF BOLTED PARTS 7. Inspection of steel frame joint details for compliance:
BE KEPT ON SUCH BUILDING OR o
(UNDERSIDE OF HEAD '?\I%TQMZAI‘_CTEOS AXIS AND OTHER SLOPED NOT | MORE THAN 1:20 FROM a. Details such as bracing and stiffening. — X
TO EDGE OF BOLT) BOLT Ax|S |MORE THAN 1:20 (BEVELED NORMAL TO THE BOLT AXIS b. Member location. — X .
WORK AT ALL TIMES DURING
UP TO AND INCLUDING 4 c. Application of joint details at each connection. —_ X
1/3 TURN 1/2 TURN 2/3 TURN
ST WHICH THE WORK AUTHORIZED e .
OVER 4 DIAMETERS BUT NOT a. Where applicable, see also Section 1705.13, Special inspections for seismic resistance.
EXCEEDING 8 DIAMETERS 1/2 TURN 2/3 TURN 5/6 TURN

THEREBY IS IN PROGRESS
UNTIL FINAL INSPECTION

FOR BOLTS INSTALLED BY 1/2 TURN AND LESS, THE TOLERANCE SHALL BE PLUS OR MINUS 30 DEGREES.
FOR BOLTS INSTALLED BY 2/3 TURN AND MORE, THE TOLERANCE SHALL BE PLUS OR MINUS 45 DEGREES.

OREGO), - -
Coos County Building Codes Division

Plan Review for Code Compliance
Structural Plan Review:

11/05/2024 11:30:28 AM

Plan Reviewed By: bkupersmith W
7

[This Plan Approval does not authorize any omission or deviation from requirements
of any State or Federal laws, rules or regulations, or any local ordinances. This
approved plan is not a building permit.

WARNING

VERY IMPORTANT

NOTICE

INFORMATION

THIS MATERIAL IS SUBJECT TO SEVERE WATER DAMAGE IF MOISTURE IS
ALLOWED TO GET BETWEEN THE PARTS; THEREFORE, IT MUST BE
STORED UNDER COVER AND ONE END ELEVATED TO ALLOW FOR
DRAINAGE UNTIL ERECTED. IF MOISTURE IS ALLOWED TO GET BETWEEN
THE PARTS, "RUST" OR "PAINT LIFT OFF" MAY OCCUR. THE
MANUFACTURER WILL NOT ACCEPT CLAIMS FOR WET STORAGE DAMAGE.
THE CUSTOMER ASSUMES FULL RESPONSIBILITY FOR THE CONDITION OF
THIS MATERIAL AFTER DELIVERY BY THE TRUCKING COMPANY.

10/29/2024

EXPIRES: 12/31/26

REVISION DATE
pros:  New Bus Barn DATE: 8/ 8/24
A\ [[ssued For 81 8124 Bandon, OR 97411 K538 BB ) KKK LGA
Permits Only LGA| Tme:  Drawing Cover Sheet o s DWG BY:
: KK ] RRRRIRIIKN
peaLer:  SP Construction ot IS %% o008 CHECKED BY-

ROTOTOOOTOte?
Reteleteletetetele

y’v’v’v’v’Q‘Q‘j SN
RRXRXKYS  RRRRRRRRKRKS

PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

70
&S

PAGE: CS1 OF 1
JOB ID: 24-9076

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY

CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T

STRUCTURES, INC. 2100 N. PACIFIC HWY.

WOODBURN, OREGON 97071 PHONE 503 / 981-9581

Page 1 of 19



194-24-000247-STR

100-0" OUT-TO-OUT OF STEEL
@ ©, @
25‘-0" 25!_0" 25‘-0" 25!_0"
1 l_Oll 24|_0ll 24!_0" ) 1 l_Oll
S 5 o
@ i Portal Frame | Portal Frame = @
:I: Tels B B B ] J B B B B sls | : :
G K K H
/ L Firewall (By Others)
5 / Weight Not to Exceed 15 psf 5
é See Sheet E9 ﬁl
S
o
* » °o e
® =k % ®
5 % 5
n n
N . N
([
= /
N
o %
L
= —_ —_ —_
W / 5 5
-O - ‘O ® o
3 © e 5 Oz E 2| £ i ©
1 [ [
5 e / e o
© T T T
5 /
@)
5 |
i 2 & % 2 i
< S S <
o © o o
N o0 o0 N
X X
S
* » ® e
® e % ®
& %
o
= l@)] A (e)] =
< £ £ <
. M 28] .
S > x Q
i N J DG ° e
7] A o c1-e1%—of — - —| o= I~ - - — F—ete 1o o D e e
@ r g e EA JEE L z @
=o4 Portal Frame =o4 Portal Frame =o4
8!_6" 14!_0" I:zl_ " l_&l 20!_0“ | I_ " 2'-&! 20!_0" Izl_ n l_&l 20!_0“ | 2!_6"
25!_0" 25’_0" 25!_0" 25’_0"
SIGNED
@ @ ©, @ ® Sopar024
EXPIRES: 12/31/26
ANCHOR BOLT PLAN
NOTE: All Base Plates @ 100'-0" (U.N.) REVISION DATE
______ Partition Wall PROJ: New Bus Barn DATE: 8/ 8/24
NS — Bandon, OR 97411 SRR WG BY: LGA
Permits Only LGA] TITLE: Anchor Bolt Plan :z:?o;o;o;o;o;o;o;v‘ .
. 9 1 9.0.9.9.9.9.9.9.%
DEALER: SP ConStrUCtlon vvvv:’:’: ““VVVVVV"”‘: vvvvvvvvzzzg CHECKED BY
O RRXRNEKS  RERRIRRIRK  BRRRRXRRKSS
THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY ::::: PACIFIC BUILDING SYSTEMS PAGE: F1 OF F3

OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN

PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

KO
MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981-9581

JOB ID: 24-9076

Page 2 of 19




194-24-000247-STR

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

XX

] PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

X

2100 N. PACIFIC HWY.

0. 0.90.9.¢

TSI
RRERERRLERRRRKS

WOODBURN, OREGON 97071

PHONE 503 / 981-9581

Dia= 7/8" Dia= 7/8" Dia= 7/8" Dia= 3/4" Dia= 3/4" Dia= 3/4" Dia= 7/8" 6" Dia= 3/4" 6"
SW SW E |‘—'| E |‘—'|
] 8 1/2" g 8 1/2" g 1-0 1/2" ] 8 1/2" g 8 1/2" g 1-0 1/2" T T
) o o =) o o N 88| — . &, D | —
- = 8 = 8 = - = 8 = 8 (=.\l Q | 4" Q | 4"
1 1 1 [a\] | 1 N 1 1 N 1 1 1 1 ~ ~
NE . A ? | & @ L ® R e & 2 e & 2 e & o | ®I® P o | @ o
- — 5 E === — 5 E ——-——- — 5 E === — 5 E F————= — 5 E F————= — 5
i R R _ R R ) LR R i e @ | ) e @ | ] e @ | N P N 1 S R Y 1
N 1 1 N 1 N 1 1 E\‘ 1 1 N 1 1 E\‘ 1 1 8" 8"
L] L] L L] L L] L L] L L] 2 2
o N % o N % © T % o N % o N © T % SW SW
T T & & & T - -
DETAIL A DETAIL B DETAIL C DETAIL D DETAIL E DETAIL F DETAIL G DETAIL H
Dia= 1" Dia= 7/8" Dia= 1" Dia= 1/2" Dia= 3/4" Dia= 3/4" "
g" 6" 6" (2) 1/2" ANCHOR BOLTS
] ] ] . See Plan See Plan EACH SIDE OF DOOR o
_ _ _ (BY OTHERS) -
T T T ] 8 1/2" 8" N ‘—"
& & & —-4 X &% —-4 & & & —-4 T r - I_——l r——l 1172 ==
- | " ; | " ‘: | " I - - u .
o | % & | @ || — o | %' & | i I © . T e e | e e '
! 4" = ! 4" ! 4" I E b - 4 s E SR I
— 1 EE— EE— | on . e & . e &
. - n n . n |_ —_— J N N
2" 2" 8 2" 2" 8 2" 2" 8 SW
SW SW SW .__I - s = 2" . O.H. DOOR SIZE . 2"
2" s < N FINISHED OPENING
See Plan See Plan See Plan See Plan =
DETAIL | DETAIL J DETAIL K DETAIL L DETAIL M N DETAIL N SUGGESTED DETAIL @ O.H. DOOR AT 8" WALLS
10/29/2024
EXPIRES: 12/31/26
REVISION PATEL pRoU: New Bus Barn DATE: 8/ 8/24
Issued For 8/ 8/24 Bandon, OR 97411 RN _
A | Permits Only LGA| mme:  Anchor Bolt Details DWG BY: LGA
peaLer:  SP Construction CHECKED BY:

PAGE:F2 oOF F3
JOB ID: 24-9076

Page 3 of 19




194-24-000247-STR

FRAME LINES: 24
q:z) q? COLUMN LINE
H H
— —
b b
FRAME LINES: 3
@ | @ | @ COLUMN LINE
I I I I I
H H H H H
— — — —
by fy by ty fy
RIGID FRAME: MAXIMUM REACTIONS, ANCHOR BOLTS, & BASE PLATES
Column_Reactions(k ) _—
Frm  Col Load Hmax \% Load Hmin \% Bolt(in) Base_Plate(in) Grout
Line Line Id H Vmax Id Vmin Qty Dia Width  Length  Thick (in)
2* E 9 237 28.2 2 -101 -12.6 4 1.000 6.000 11.50 0.500 0.0
10 197 34.9
2* A 3 10.1 -12.5 8 -237 28.3 4 1.000 8.000 11.50 0.500 0.0
10 -19.7 34.5 3 10.1 -125
2* Frame lines: 2 4
RIGID FRAME: MAXIMUM REACTIONS, ANCHOR BOLTS, & BASE PLATES
Column_Reactions(k )
Frm  Col Load Hmax \Y Load Hmin \Y Bolt(in) Base_Plate(in) Grout
Line Line Id H Vmax Id Vmin Qty Dia Width  Length  Thick (in)
3 E 7 6.5 10.0 11 -6.1 -5.9 4 0.875 6.000 18.50 0.500 0.0
10 038 15.5 13 0.0 -10.6
3 A 12 6.1 -5.9 6 -6.5 10.0 4 0875 6.000 18.50 0.500 0.0
10 -0.8 15.0 13 0.0 -9.9
3 @200 4 0.0 -7.0 4 0.0 -7.0 4 0.750 6.000 8.500 0.500 0.0
8 0.0 19.0
3 C 3 0.0 -3.6 3 0.0 -3.6 4 0.750 8.000 8.000 0.500 0.0
1 0.0 15.3
3 @60.0 5 0.0 -7.0 5 0.0 -7.0 4 0.750 6.000 8.500 0.500 0.0
9 0.0 19.0
RIGID FRAME: BASIC COLUMN REACTIONS (k )
Frame Column  --—--- Dead---- --Collateral- - Live-—-- - Snow---- --Wind_Left1- -Wind_Right1-
Line Line Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert
2* E 3.1 47 3.8 5.1 14.8 20.0 14.8 20.0 -19.9 -25.7 -10.9 -19.6
2 A -3.1 4.8 -3.8 5.1 -14.8 20.0 -14.8 20.0 10.9 -19.6 19.9 -25.7
Frame Column  --Wind_Left2- -Wind_Right2- --Wind_Long1- --Wind_Long2- -Seismic_Left Seismic_Right
Line Line Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert
2* E -15.0 -15.4 -6.1 9.4 -9.1 -24.7 -11.1 -21.1 -8.8 -3.4 8.8 34
2 A 6.0 -9.4 15.1 -15.4 11.0 -21.1 9.2 -24.7 -8.8 3.4 8.8 -3.4
Frame Column  -Seismic_Long F1UNB_SL_L- F1UNB_SL_R-
Line Line Horz Vert Horz Vert Horz Vert
2 E 0.0 -16.0 10.8 17.7 10.8 10.4
2 A 0.0 -15.0 -10.8 104 -10.8 17.7
Frame Column  --—- Dead---- --Collateral- - Live-—- - Snow---- --Wind_Left1- -Wind_Right1-
Line Line Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert
3 E 0.1 1.6 0.2 1.3 0.6 5.0 0.6 5.0 43 -8.3 4.3 -3.0
3 A -0.1 1.6 -0.2 1.3 -0.6 5.0 -0.6 5.0 -4.3 -3.0 43 -8.3
3 @200 0.0 2.4 0.0 25 0.0 10.0 0.0 10.0 0.0 -10.8 0.0 -10.8
3 C 0.0 2.7 0.0 26 0.0 10.1 0.0 10.1 0.0 -8.7 0.0 -8.7
3 @60.0 0.0 2.4 0.0 25 0.0 10.0 0.0 10.0 0.0 -10.8 0.0 -10.8
Frame Column  --Wind_Left2- -Wind_Right2- --Wind_Long1- --Wind_Long2- -Seismic_Left Seismic_Right
Line Line Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert Horz Vert
3 E -5.8 -5.0 27 0.4 35 -8.9 1.6 -9.4 -8.8 -9.2 8.8 9.2
3 A 2.7 0.4 5.8 -5.0 -1.6 9.4 -3.5 -8.9 -8.8 9.2 8.8 -9.2
3 @200 0.0 -5.7 0.0 -5.7 0.0 -14.1 0.0 -6.1 0.0 10.9 0.0 -10.9
3 C 0.0 -5.2 0.0 -5.2 0.0 -7.3 0.0 -7.3 0.0 0.0 0.0 0.0
3 @60.0 0.0 -5.7 0.0 -5.7 0.0 -6.1 0.0 -14.1 0.0 -10.9 0.0 10.9
Frame Column -Seismic_Long F2UNB_SL_L- F2UNB_SL_R-
Line Line Horz Vert Horz Vert Horz Vert
3 E 0.0 -16.0 0.4 4.5 0.4 1.9
3 A 0.0 -15.0 -0.4 1.9 -0.4 4.5
3 @200 0.0 0.0 0.0 111 0.0 2.1
3 C 0.0 0.0 0.0 8.4 0.0 8.4
3 @60.0 0.0 0.0 0.0 2. 0.0 111
2* Frame lines: 2 4

ENDWALL COLUMN: BASIC COLUMN REACTIONS (k ) NOTES FOR REACTIONS
Wind . " . . -
Frm  Col  Dead Collat  Live Snow  Wind_Left1 Wind_Right1 Wind_Left2 Wind_Right2 Press 1. Al loading conditions are exarmined and only maximumiminimum
Line Line Vert Vert Vert Vert Horz Vert Horz Vert Horz Vert Horz Vert Horz 2 Positi ti P h 9 F the sk tph F ’ dation load
1 E 04 0.3 1.3 1.3 0.0 -1.8 0.0 2.0 0.0 0.9 0.0 1.1 26 : a%ﬂr‘]"gpfjscitg’gfr:ggoisss own In the sketch. Foundation loads
] (D: ]? ] g ?g ?g _(1)(3) :]8‘51 88 :gg _(1)?3 :;‘7‘ 88 Zig :gg 3. Bracing reactions are in the plane of the brace with the H pointing
1 B 1'3 14 5'7 5'7 _1'3 6 5 1‘3 _10' 3 1 ‘3 _3'4 1'3 _7‘3 _4'9 away from the braced bay. The vertical reaction is downward.
1 A 04 03 13 13 0.0 03 13 35 0.0 192 13 26 17 4. Building reactions are based on the following building data:
i ) Width (ft) =80'-0"
Wind i i ) o Seis Length (ft) =100'-0"
F_rm C_oI Suct Wind_Long1 Wind_Long2 Seis_Left Seis_Right Long E1UNB_SL_L- Eave Height (ft) =17'-0"/17'-0"
Line Line Horz Horz Vert Horz Vert Horz Vert Horz Vert Horz Horz Vert Roof Slope (rise/12) =2512
1 E 3.0 0.0 -2.5 0.0 -1.8 24 0.3 24 -0.3 0.0 0.0 1.1 Dead Load (psf =3.10
(psf)
1 C 89 0.0 -6.9 -0.8 -8.7 -15.2 -20.9 0.0 18.4 7.2 0.0 55 Live Load (psf) =20.00
1 B 55 0.8 -5.1 -0.8 -10.8 -15.2 -6.4 15.2 3.5 4.5 0.0 1.2 Roof Snow Load (psf) =20.00
1 A 20 0.8 -2.9 0.0 -1.2 0.0 24.9 15.2 -19.5 1.5 0.0 0.5 Ground Snow Load (psf) =5.00
Wind Speed (mph) =120
Frm  Col E1UNB_SL_R- Wind Code = 0SSC22 (IBC 21)
Line Line Horz Vert Exposure =C
1 E 0.0 0.5 Closed/Open = Enclosed
1 D 0.0 1.2 Importance Seismic =1.25
1 C 0.0 55 Importance Snow (Is) =1.10
1 B 0.0 6.3 Seismic Zone =D
1 A 00 11 Seismic Coeff (Fa*Ss) =2435
Wind 5. Loading conditions are: )
Frm Col  Dead Collat Live Snow Wind_Left1 Wind_Right1 Wind_Left2 Wind_Right2 Press ; g%%de’;%ﬁ'éaéﬁ&s'ﬂws"de—s”°W
Line Line Vert Vert Vert Vert Horz Vert Horz Vert Horz Vert Horz Vert Horz 3 0.6Dead+0.6Wind_Ri ht1
5 A 04 0.3 1.3 1.3 -1.3 -3.5 0.0 0.3 -1.3 -2.6 0.0 1.2 -1.7 2 O.6Dead+0.6Wind_Lo?1 1L
5 B 1.3 1.4 5.7 5.7 -1.3 -10.3 1.3 -6.5 -1.3 -7.3 1.3 -3.4 -4.9 5 0.6Dead+0'6Wind_Long2L
5 c 17 1.8 7.0 7.0 0.0 -7.0 1.3 -10.4 0.0 -4.2 1.3 1.7 -8.0 ’ : _-ong —_
5 D 13 14 57 57 0.0 6.0 0.0 105 0.0 30 0.0 74 4.9 6  1.23Dead+1.23Collateral+0.7Seismic_Left
5 E 0.4 03 13 13 0.0 20 0.0 18 0.0 Y 0.0 09 26 7  1.23Dead+1.23Collateral+0.7Seismic_Right
’ ' ' ' ' ' ' ’ ’ ' ' ' 8 1.16Dead+1.16Collateral+0.75Live+0.53Seismic_Left
. . 9 1.16Dead+1.16Collateral+0.75Live+0.53Seismic_Right
Wind i i ) o Seis 10 1.16Dead+1.16Collateral+0.75Live+0.53Seismic_LongR
Frm  Col Suct Wind_Long1 Wind_Long2 Seis_Left Seis_Right Long E2UNB_SL_L- 11 0.37Dead+0.7Seismic_Left
Line Line Horz Horz Vert Horz Vert Horz Vert Horz Vert Horz Horz Vert 12 0.37Dead+0.7Seismic_Right
5 A 20 0.0 -1.2 -0.8 -2.9 -11.8 -15.1 0.0 19.4 1.0 0.0 1.1 13  0.37Dead+0.7Seismic_LongL
5 B 55 0.8 -10.8 -0.8 -5.2 -11.8 26 11.8 -5.1 3.0 0.0 6.3 14 0.6Dead+0.6Wind_Suction+0.6Wind_Long1L
5 C 8.9 0.8 -8.7 0.0 -6.8 0.0 14.3 11.8 -16.2 4.8 0.0 5.5 15 0.6Dead+0.6Wind_Pressure+0.6Wind_Long1L
5 D 55 0.0 -5.4 0.0 -10.5 0.0 -1.6 0.0 1.6 3.0 0.0 1.2 16 Dead+Collateral+E1UNB_SL_L
5 E 3.0 0.0 -1.8 0.0 2.5 1.6 -0.2 1.6 0.2 0.0 0.0 0.5 17 0.6Dead+0.6Wind_Left1+0.6Wind_Suction
18 0.6Dead+0.6Wind_Pressure+0.6Wind_Long2L
Frm  Col E2UNB SL R- 19 0.37Dead+0.7Seismic_Left
Line Line Horz  Vert 20 0.6Dead+0.6Wind_Suction+0.6Wind_Long2L
5 A 00 05 21 0.6Dead+0.6Wind_Right1+0.6Wind_Suction
5 B 0.0 1.2 22 1.23Dead+1.23Collateral+0.7Seismic_Left
5 Cc 00 5.5 23 0.37Dead+0.7Seismic_Right
5 D 0.0 6.3 24 1.23Dead+1.23Collateral+0.7Seismic_Right
5 E 0.0 1.1 25 Dead+Collateral+E2UNB_SL_L
26 Dead+Collateral+E2UNB_SL_R
ENDWALL COLUMN: MAXIMUM REACTIONS, ANCHOR BOLTS, & BASE PLATES
Column_Reactions(k )
Frm  Col Load Hmax \% Load Hmin \% Bolt(in) Base_Plate(in) Grout
Line  Line Id H Vmax Id H Vmin Qty Dia Width  Length  Thick (in)
1 E 14 1.8 -1.3 15 -16 -1.3 4 0.875 6.000 8.500 0.375 0.0
1 0.0 2.0 14 1.8 -1.3
1 D 14 3.3 -5.5 15 -3.0 -5.5 4 0.875 6.000 8.500 0.375 0.0
16 0.0 9.1 14 33 -5.5
1 C 17 53 -5.2 18 -48 -4.2 4 0.875 6.000 12.50 0.750 0.0
9 0.0 19.0 19 0.0 -14.0
1 B 20 33 -5.7 18 -3.0 -5.7 4 0.875 6.000 8.500 0.375 0.0
9 0.0 9.3 20 33 -5.7
1 A 21 1.2 -1.9 15 -1.0 -1.5 4 0.875 6.000 8.500 0.750 0.0
22 0.0 18.3 23 0.0 -13.5
5 A 17 1.2 -1.9 18 -1.0 -1.5 4 0.750 6.000 8.500 0.750 0.0
24 0.0 14.5 19 0.0 -10.4
5 B 14 33 -5.7 15 -3.0 -5.7 4 0.750 6.000 8.500 0.375 0.0
25 0.0 9.1 14 33 -5.7
5 C 21 5.3 -5.2 15 -48 -4.2 4 0.750 6.000 12.50 0.750 0.0
8 0.0 16.8 23 0.0 -10.7
5 D 20 33 -5.5 18 -3.0 -5.5 4 0.750 6.000 8.500 0.375 0.0
26 0.0 9.1 20 33 -5.5
5 E 20 1.8 -1.3 18 -1.6 -1.3 4 0.750 6.000 8.500 0.375 0.0
1 0.0 2.0 20 1.8 -1.3
BUILDING BRACING REACTIONS ANCHOR BOLT SUMMARY
+ Reactions(k ) Panel_Shear . .
. — - Dia Proj
—Wall — Col ——Wind — —Seismic — (Ib/ft) . :
Loc Line  Line Horz  Vert Horz Vert Wind Seis Note Qty Locate (in) Type (in)
16 Jamb 1/2" A36 1.50
LEW 1 C,B 1.3 1.7 152 198 20 Endwall 7/8" A36 2.50
B,A 1.3 1.7 152 198 20 Endwall 3/4" A36 2.00
F_ SW A 2,3 23 2.7 124 15.0 (b) 16 Frame 1" A36 3.00
3,4 2.3 27 124 150 (b) 8 Frame 7/8" A36 2.50
R_EW 5 A.B 1.3 1.7 11.8 153 12 Frame 3/4" A36 2.00
B,C 1.3 1.7 11.8 153
B_.SW E 3,4 23 27 13.2  16.0 (b)
2,3 23 27 13.2  16.0 (b)
(b)Wind bent in bay, base above finish floor
Reactions for seismic represent shear force, Eh
Reaction values shown are unfactored
10/29/2024
EXPIRES: 12/31/26
REVISION DATE <
pros:  New Bus Barn DATE: 8/ 8/24
NS e Bandon, OR 97411 R | oy LA
Permits Only LGA] mme:  Anchor Bolt Reactions R Bz '
) [ RRIRKHKKARARA
peaLer:  SP Construction 0% [R5 K CHECKED BY:

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

%
]
KR
%!

K
LA AAAAA K
G 020200202020.0.0.
RLRRRRRRRKLY

T4

SOOIt
BRRRRRRRRKY

PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY.

WOODBURN, OREGON 97071

PHONE 503 / 981-9581

PAGE: F3 oOF F3
JOB ID: 24-9076

Page 4 of 19




194-24-000247-STR

SPECIAL BOLTS
ROOF PLAN
O ID QUAN TYPE DIA LENGTH WASH
1 4 GRS 1/2" 11/4" 0
2 2 A325  3/4" 234" 2
MEMBER TABLE
ROOF PLAN
MARK PART
P-1 10212
P-2 10214
© (5) P-3 10212
100-0" OUT-TO-OUT OF STEEL P-4 10Z16
P-5 10212
E-1 10GS14-2
25'-0" 25'-0" 25'-0" 25'-0" E-2 10GS14-2
| | | c4 | d00staz
10" | - —~ 1-0" E-5 10GS14-2
E-6 10GS14-2
ST-1 W8X24
£ E-6 RF1-1 E-5 RF2-1 E-5 RF1-1 E-4 CB-9 1 1/8ROD
: - : : CB-10 | 11/8ROD
EC-1 jﬁ ! ! ! : jﬁ EC-10 CB-11 | 3/4 ROD
I P-1(Typ) I P-2(Typ) I P-2(Typ) I P-3(Typ) BL-1 10C16
‘ : ‘_4 : ‘ : ‘ : ‘ CONNECTION PLATES
| @— | | | ROOF PLAN
| | | | OID | MARK/PART
T /’\ l | 1| GGE-4
| | | | 2 [CL-1
G G
| 9 | &3 \ AQ | A !
° | 92 . 2 ® | ¢ . ©
< T I T I <
@ | | | | e
L— | [ [ 1 [ =~
EC-2 H I ! I ! H | EC-9
\ 1 ) I ST-1(Strut) I ST-1(Struf) I |
< | P-4(Strut) s | | \@ | 3
e | | | | e
| L
| ! | '
I I H RF2-5 I I
| | | |
| ! | ! | ! |
| : | :
| o | o | o |
| o | N | o |
| v | 2 | v |
| ¥ t
| | | | | | |
| | | |
| | | |
| t | T
I N I O@ N I O@ I
l S l & ‘ & l % l
1 ! T + I
HJJ I I I I
5 : ¢ : : 7 : PURLIN
LOL } I P-5 : P-5 T CL-1 CLIP W/ JAMB BRACE
S ecs | , ® . A RF2.0 [ . “ |Ecs @ 1z oS v
) t P3(T L f P5 ' AT EAVE STRUT
o) | -3(Typ) | P-5 ! - : [ P-1(Typ)
o [ [ [ [
= | | | |
= ] ]
3 | . P2(Typ) | - P-2(Typ) |
< I I I I -
g ' : ' : === GGE-4 CLIP w/
Q T | = (2) 1/2"x1-1/4" GR5 BOLTS AT BL-1 &
: : : : ] = | (2) 1/2"x1-1/4" GR5 BOLTS AT PURLIN
: \ | \ | \ | : |
| e | @ | @ | EAVE STRUT : :
| e I o I e I I I
| 4 | x | 4 | : |
T = : & R T o : ! |
N ! \ ! \ b ! > \ ! ™ |
o | & | NG P | &7 | o TN
w | ! H RF2-7 [ [ w
[ i [ .
| | | |
I P-4(Strut l ' /@ !
‘ | (Strut) . | ST-1(Strut) | ST-A(Strut) | ‘ @JAMB BRACE CONNECTION
EC-4 H I &7 i T f 1 EC-7
| | ! 1 |
| | | |
| | | |
| T | T
| | | |
| | | |
| |
| I | T
| | | |
@TYP.| ,’\0 | 2 | C& |
El ! l &2 I 8\9 l ® ! 20 ! I [
- I - = I - - I - = I -
2| al, | 3 | N | Al | 2 | :
@ EC-S | H ! ! ! ! H | EC-6
E-1 \ RF1-4 E-2 RF2-4 E-2 RF1-4 E-3
PURLIN STR2 4 e -1
LAP o 71" o
] L ] L ] L ] L
8'_6“ 14'_0" | 2'_6“ | 2|-6" | 20'_0" |2l_6|l | 2'_6" | 20'_0" | 2'_6“ | 2|-6" | 20'_0" |2l_6|l|
| | | | | | I | | | | | 1
SIGNED
ROOF FRAMING PLAN Sonep
EXPIRES: 12/31/26
REVISION DATE PROJ: New Bus Barn DATE: 8/ 8/24
— < D 9202070000 O NN 0992090090
A [ssued For 8/ 8/24 Bandon, OR 97411 (K %03 S ;33;?:1:2:2:2:2:2:2: DWG BY: LGA
Permits Only LGA| mme:  Roof Framing KXY Koz '
. 104 RRLRRLKS
peaer:  SP Construction o bote K CHECKED BY:
R
THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY PAG E E1 OF E1 2
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
PERMISSION, IT 18 NOT TO BE USED IN ANY MATTER THAT MAY MANOPACTORED BY TRUSST STRUGTURES. G 24-9076
R e IMENT PIRECTLY OR INDIRECTLY TO TRUSS T 2100 N. PACIFIC HWY.  WOODBURN, OREGON 97071  PHONE 503 / 981-9581 JOB ID: )

Page 5 of 19



194-24-000247-STR

100'-0" OUT-TO-OUT OF STEEL

7

25!_0"

41 l_On

80'-0" OUT-TO-OUT OF STEEL

41|_0n

ROOF SHEETING PLAN

PANELS: 24 Ga. SSQ-275 - Mt Hood White

Field cut as Required

10/29/2024

EXPIRES: 12/31/26

Issued For
Permits Only

proJs:  New Bus Barn
Bandon, OR 97411

mirte:  Roof Sheeting

peaLer:  SP Construction

RSOIIRKY
2020202020 %Y;

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

D
0%
%!

2100 N. PACIFIC HWY.

V.v.v.v.v.v.v.v:”‘
[RRIRRRRKKY

KRR

PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

WOODBURN, OREGON 97071 PHONE 503 / 981-9581

DATE: 8/ 8/24
DWG BY: LGA

CHECKED BY:

PAGE:E2 oOF E12
JOB ID: 24-9076

Page 6 of 19




194-24-000247-STR

40'_0"
ROOF SURFACE 2

40'_0"
ROOF SURFACE 3

INSULATION TABLE
ROOF PLAN

ROLL] QUAN MARK | WIDTH| LENGTH
1 2 |[R1 |40 [410
2 2 |R2 |40 |430"
3 7 |R3 |6-0" | 410"
4 7 | R4 |60 | 430"
5 2 |R5 | 40" | 410
6 2 |R-6 |40 | 430"
7 7 |Rk7 |60 | 410
8 7 | R | 6-0" | 430"

10/29/2024

EXPIRES: 12/31/26

100-0" OUT-TO-OUT OF STEEL
25'-0" @ @ @ 25'-0"
50|_0n | 50|_0n
[A] ' [B]
§ S S S S S S S N © © © © © © © © ©
= = = = = = = = = = = = = = = = = =
< < < < < < < < < < < < < < < < < <
= D D D D D D D = ) S S S = = = = 5
2 = = = = = = = = = = = = = = = = =
A < < < < < < < < < < < < < s s e e
ROOF INSULATION
[A] INSULATION: 6" VRR (R-19) w/ R-3 Thermal Blocks
[B] INSULATION: 2" VRR (R-7) w/ R-3 Thermal Blocks
REVISION proJ.  New Bus Barn
Issued For Bandon, OR 97411
A Permits Only nimee:  Roof Insulation

peaLer:  SP Construction

X RRIRRAIARLS

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY

OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,

COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071

PO 09-00-9-9-0~
::0:0:0:0:0:0:0:0:02
0%
X
TS

S
P

?020:020202020‘: }

X

) K4

SOSSTSSTS RSTSTSSTSISSY

OIS D RRRALS

LRRRRRKS

] PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

PHONE 503 / 981-9581

DATE: 8/ 8/24
DWG BY: LGA

CHECKED BY:

PAGE:E3 oOF E12
JOB ID: 24-9076

Page 7 of 19



194-24-000247-STR

17!_0"

BOLT TABLE
FRAME LINE A
LOCATION QUAN TYPE_ DIA LENGTH
WF-1 - WF-2 8 A325 11/8" 31/2"
WF-1 - RF1-4 10 A325 5/8"  13/4"
WF-1 - RF2-4 10 A325  5/8"  21/4"
MEMBER TABLE
FRAME LINE A
MARK__| PART
WF-1 W16X40
WF-2 W16X40
DJ-2 8C16
DJ-3 8C12
DJ-4 8C16
DH-2 8C16
® ® lE
100'-0" OUT-TO-OUT OF STEEL o e 142
E-2 10GS14-2
@ @ @ E-3 10GS14-2
25'-0" 25'-0" 25'-0" 25'-0" G-17 | 8Z16
G-18 | 8216
G-19 | 8Z16
BC-3 8C16
(® HEP (@) E-1 ep E-2 E-2 E-3 Bo4 1818
== 3 : : X : I : == CONNECTION PLATES
: ! ﬂ' | 2 : 2 2 : 2 | ! FRAME LINE A
2 ! . @ WE-2, [0 ol WE-2 0 . | 1D [ MARK/PART
Y / DH-3 DH-4 DH-4 DH-4 1 |GGE-4
) L, G7 STR-2 G-18 @/ G-18 G-18 G-19 2 |GDy2
2 | | G [ ™ Ol |
L ® '
N ©® ¥|G-18 ¥ ¥ ~ 1ol ¥ G-18|¥ w|G-19!
] . 1 C-171 . 5 5 . 51 11G-181% . 5 5 " ST
i TEE=DT ma 5 s@ [[I03 5 A 5 aEl-|| O3 5 =k
& | PP < i = i|'|e = il @ S |
N = c-18|5 = =618 G-19
mMelRjoio 0 1 |
%O'r | || (1) :
I 1= . D Bc4BC4 N BC4BC4 N Bc4BC4 N BC-4,
i A cl T3 Cl-THIID clT [D |:.|—|
EC-5 RF1-4 RF2-4 RF1-4 EC-6
3-41/2"
Field
© | o © | o © | ©
8-6" 140" | & 20'-0" S 20'-0" | & 20'-0" N
SIDEWALL FRAMING: FRAME LINE A
(Gutter with 3 downspouts)
Endcap Endcap
CornerI EC2, SSHG, SSHGS C(larner
& & & N
JHWS, CFD JHAWS, CFD JHWS, CFD JHWS, CFD
= L | := L L] |= L i - [T L |-
N} O (@] N} (@) O - (@] (@] N} (@] O o
R~ ) o |~ o o ||& o | & ) o [~
CFD = = = = = = = =
T T I I T T T I
L L wrl rl ) ) rl ) ) e
o O
1 1 1 1
BD
SIDEWALL SHEETING & TRIM: FRAME LINE A
PANELS: 26 Ga. PBR - Mt Hood White
SIGNED
10/29/2024
EXPIRES: 12/31/26
REVISION DATE 3
) proJ:  New Bus Barn Egg . DATE: 8/ 8/24
A [[ssued For 8 8/24 Bandon, OR 97411 K3 )RR WG BY: LGA
Permits Only LGA|l mme  Sidewall Framing Do KK Rz '
. K 104 RRRRRRLRKRY
peaLer:  SP Construction oSy re%s 0% CHECKED BY:
s S S R s

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN

PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T

STRUCTURES, INC.

o

XXl PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY.

WOODBURN, OREGON 97071 PHONE 503 / 981-9581

PAGE:E4 oOF E12
JOB ID: 24-9076

Page 8 of 19




194-24-000247-STR

1 7!_0"

BOLT TABLE

FRAME LINE E

LOCATION QUAN TYPE DIA LENGTH
WEF-3 - WF-4 12 A325 1" 31/4"
WEF-3 - RF1-1 10 A325 5/8" 13/4"
WE-3 - RF2-1 10 A325 5/8" 21/4"

MEMBER TABLE
FRAME LINE E
MARK PART
WEF-3 W16X40
WF-4 W16X40
DJ-1 8C16
DH-1 8C16
DS-1 8C16
E-4 10GS14-2
@ o @ E-5 10GS14-2
100-0" _OUT-TO-OUT OF STEEL E6 10G514.2
G-20 8716
@ @ @ G-21 8216
25'-0" 25'-0" 25'-0" 25'-0" G-22 8216
G-23 8212
BC-2 8C16
CONNECTION PLATES
(18) ) ) ] ) (18) FRAME LINE E
i C/‘ = ,;: = .. £ .. = Qn i 11D | MARK/PART
X 1 [GGE-4
5 | : WF-4 WF-4 : |
© [ | | [
] I G-20 | G-21 | G-21 , G-22 | |
) || | Hen | ol | o | (I
5 | ! H ! M ! U L (@) !
% [ ! = G-21 [ SHE [ = G-23 ' k @ [
| | G-20 | , G-21 | . : |
: . . . 'y . O | —
o I | @_ I I - DH_1‘T I - DH-1 - | .
= [ | [ | | ) o) [ | e e [ o
] I G-20 | I G-21 . G-21 . a a G-22 , a2 : g
| | | | m DS_-1 1—| | DS-1 | ——
o | | | | [1] [1] | I 5
¥ ] BC-2 I - BC-2 ! ] BC-2 ! = BC-2 I o I
I I~ HIH [ [ HT (3 iR
ZgTRQ - EC.A
EC-10 RF1-1 RF2-1 4'-0" | RF1-1 4'-0"
Field Field
GIRT 2-7" 2-7" 2-7"
LAPS 2.7" 2.7" 2.7"
SIDEWALL FRAMING: FRAME LINE E
(Gutter with 3 downspouts)
Endcap Endcap
Corner EC2, SSHG, SSHGS Corner
=
CFD CFD
LL L LL L
o O o O
CF CF
BD
SIDEWALL SHEETING & TRIM: FRAME LINE E
PANELS: 26 Ga. PBR - Mt Hood White
SIGNED
10/29/2024
EXPIRES: 12/31/26
REVISION DATE
pros:  New Bus Barn DATE: 8/ 8/24
A lssued For 8 8/24 Bandon, OR 97411 ;ifififtf:?ﬁ:?:’:‘ ,if:: ::Eﬁfiiititiiiiititﬁ LGA
Permits Only LGA| Tme  Sidewall Framing ' oo S DWG BY:
i d 10 RHKRRRRRRR
peaLer:  SP Construction :::} KX R CHECKED BY:
RS R R

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

X PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981-9581

PAGE:E5 oOF E12
JOB ID: 24-9076

Page 9 of 19




194-24-000247-STR

1 7!_0"

| 4!_0" | 4!_0" | 4!_0" | 4!_0"

4!_0"

3!_0" | 4|_0|l |

80"0"

OUT-TO-OUT OF STEEL

®

_@

1 51_0"

251_0"

25!_0"

1 5!_0"

ﬁf“‘ T
- j/

BAG

-1

—
G-5

G-3

G-3

L"Tﬁ_

G-4

—
_ -

1

|

1

|

1

|

|

2A G-8

=

H-

_@

i G

5]

G-3

DJ-2 & |

1pu2!

4|_0||
Field

GIRT 21"
LAPS 21

CT-1

[

L

1/4"

BC-2

r[5]

3'-41/2"

Field

2'1

ENDWALL FRAMING: FRAME LINE 1

SS?EC

2Peak

17'-6"
18'-1"
18'-9"
19'-4"
20'-0"
207"

21 l_3l|

21'-10"

22!_6"

231_1 n

CF

CFD

CF

F————— = —

23'-9"

241_4"

251_0"

25'_2"

251_0"

24|_4u

231_9"
23!_1 n
221_6"

21'-10"

EC-5

213"
20'-7"
20'-0"
194"

1 81_9"

__TL_ __IL___

L —

212" DN\

12

L‘|\~ GCA-18

(Typ.)

2172 DN

12

1 8!_1 n
1 71_6"

CT-1
1

8"0"

31 l_Ou

49|_0l|

Plywood liner (By Others) - Weight not to exceed 5psf

ENDWALL SHEETING & TRIM: FRAME LINE 1

PANELS: 26 Ga. PBR - Mt Hood White

BOLT TABLE
FRAME LINE 1

LOCATION

TYPE

DIA

LENGTH

ER-1/ER-2
Cor_Column/Raf
EC-2/ER-1
EC-3/ER-1
EC-4/ER-2

QUAN
4

4
4
2
4

A325
A325
A325
A325
A325

7/8"
5/8"
5/8"
7/8"
5/8"

2 3/4"
11/2"
11/2"
21/4"
11/2"

FLANGE BRACE TABLE
FRAME LINE 1

VID

MARK

LENGTH

1
2

3

FB15A
FB12A
FB14A

1 1_3"
1 l_oll
1 l_2l|

CONNECTION PLATES
FRAME LINE 1

4D

MARK/PART

1
2
3
4
5

GFB-8
GFB-2

MEMBER TABLE
FRAME LINE 1

MARK

PART

EC-1
EC-2
EC-3
EC-4
EC-5
ER-1

W8X10
W8X10
W12X14
W8X10

1 1/4ROD

EXPIRES: 12/31/26

10/29/2024

REVISION

DATE

PROJ: New Bus Barn

Issued For
Permits Only

A

8/ 8/24
LGA

Bandon, OR 97411

mnimte:  Endwall Framing

peaLer:  SP Construction

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN

PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T

STRUCTURES, INC.

ERIRRERRREKA
IQ:Q:Q‘A’A’A’A’A’A’A

SR
P?OQO

TR
w.o:o:o}:o:o::::ﬁ
) X
%Y d
KA A a iKY
SITIITRIHRRKN
RRIRRRIIEE)

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY.

WOODBURN, OREGON 97071 PHONE 503 / 981

-9581

DATE: 8/ 8/24
DWG BY: LGA

CHECKED BY:

PAGE:E6 OF E12
JOB ID: 24-9076

Page 10 of 19




194-24-000247-STR

BOLT TABLE

FRAME LINE 5

LOCATION QUAN TYPE DIA LENGTH
ER-3/ER-4 4 A325 7/8" 2 3/4"
Cor_Column/Raf 4 A325 5/8" 11/2"
EC-7/ER-3 4 A325 5/8" 11/2"
EC-8/ER-3 2 A325 7/8" 2 1/4"
EC-9/ER-4 4 A325 5/8" 11/2"

FLANGE BRACE TABLE
FRAME LINE 5

VID| MARK LENGTH

1| FB15A 1'-3"
2| FB17A 1'-0"

CONNECTION PLATES
FRAME LINE 5

01D | MARK/PART

1]|GGC-8
2 |GCP-8
3 |GGE+4

MEMBER TABLE
FRAME LINE 5

MARK PART

EC-6 W8X10
EC-7 W8X10
EC-8 W12X14
EC-9 W8X10
EC-10 W8X10
ER-3 W8X10
ER-4 W8X10

DJ-2 8C16
DH-2 8C16
G-10 8216
G-11 8216
G-12 8216
G-13 8216
G-14 8216
G-15 8216
G-16 8216
BC-1 8C16
BC-2 8C16

CB-5 1 1/8ROD
CB-6 1 1/8ROD
CB-7 1ROD
CB-8 1 ROD

10/29/2024

EXPIRES: 12/31/26

® ®
80-0" OUT-TO-OUT OF STEEL
@ @
1 5'_0" 25'_0" 25'_0" 1 5!_0"
AZ 1/2" 2 1/2u&
12 10" 12
o Bag
T .
|\I\\t R \ivm\
: FRIA -7 | e
o ST | I
T _ —611 ! ®
i [ | \
5 | ! FB15A
< |
ﬂ'— l—' G-10 : ~.
|
| g N : FB15A
2l 2, G-10 ! o
= | ‘ | el —
5 R Q. €2~ | oy
N 2, & 610 X . i~ I G2
I : N
5 GCA'18J ) ! R ~ | A-1
2| (Typ)—, 7 | = GCA-18
h o BC-1 BC-2 | 0| \&r Jﬁ'i BC-2 (Typ.)
I I / T (317 [[3] I
EC-6 EC-7 STR-2 EC-8 EC-9
3-41/2"
Field
GIRT 141 11" 141
LAPS _'1_1 _'1_1 _'1_1
ENDWALL FRAMING: FRAME LINE 5
® ® & ® ®
21 2Peak 212" DN
12 FI%IS 12
=T
|
|
|
|
|
—F | —J _
=== | =
|
|
|
|
|
= = = = = = = =O = = = = = = I = = = = = =O = = = = = = =
@ N3 o <5 Q ~ @ N3 @ N3 o <5 @ (|| ¥ P - @ - @ ~ < hi P - @
|l | R |lw|lo|dlaldls|lslalo|lowlxs|ovo|lvo|lvols | vl |lals]lsla|laloe o8] |-
IL -~ ~ -~ ~ N N N N (q\] N N N N N| N N N N N (q\] N (q\] N -~ ~ -~ ~ l_'
(@] | (@)
| CFD
I [TETE
| O O
|
|
|
L] . 41+ 1 4+ 1+t 1+ 1+ 14+ 11y 11+ 1+ 1 4 1 1 __ ] L]
BD
ENDWALL SHEETING & TRIM: FRAME LINE 5
PANELS: 26 Ga. PBR - Mt Hood White
REVISION PAT pros  New Bus Barn
A | Issued For 8/ 8/24 Bandon, OR 97411
Permits Only LGA| mme:  Endwall Framing

peaLer:  SP Construction

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

CR XX XXX X XN

RRRRRRRRRA
’:‘1 TR

KX e

RRERRHRRRILN

%03

;

(TRRIXXHIKLIR
BRRRRRRNNS
gasstetelelelesels

R ~ '0'0'0'0'0’:’:‘: ROTOOOTeseted
BRRRRRRES RRRRXRKY (RIS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981

-9581

DATE: 8/ 8/24
DWG BY: LGA

CHECKED BY:

PAGE:E7 oOF E12
JOB ID: 24-9076

Page 11 of 19




194-24-000247-STR

INSULATION TABLE
FRAME LINE1A5E
ROLL| QUAN MARK [ WIDTH| LENGTH
1 4 WI-1 4'-0" 17'-6"
2 6 WI-2 6'-0" 3'-6"
3 8 WI-3 6'-0" 17'-6"
4 2 WI-4 4'-Q" 18'-6"
5 2 WI-5 6'-0" 20'-0"
6 2 WI-6 6'-0" 21'-0"
7 2 WI-7 6'-0" 22'-6"
8 2 WI-8 6'-0" 23'-6"
9 2 WI-9 6'-0" 25'-0"
10 3 WI-10 | 6'-0" 26'-0"
LEGEND:
3!_0" (1)
Length (Roll #)
212" =TT T Tee- 212 2172 ——=" I ey 212"
12 - Tt —— 12 12 e == 12
r’/// \\\\ﬁ - T
I I
I I
I I — —
| i = S S =
I IA] | - o e g g 2 o —
I I - © T~ E; () < < ) E; L © R
| | | & | 5 | & | & | & | B | B | &g | & | 8 | o | &g
[ [ R < = = < g
| F———n =S | g S N “ e “ N S g
I I I I I I -~ I [ -~
I I I I I I I [
I I I I I I I [
| L—— — 2 | | | | |
I I I I I [
I I I I I [
L e e e e e e e e e e e e e e = A e e e e e e e e e e e e e e e e e - N 1 1
ENDWALL INSULATION: FRAME LINE 1 ENDWALL INSULATION: FRAME LINE 5
[A] INSULATION: Banded Liner (R-25) W/ Thermal Tape INSULATION: 2"VRR (R-7)
GL)________________________Q_)________________________g)) S S S @ S S S @
' © © © © © ©
: o ] o o o _ ) © © © _.
I I I I I I
I I I I I I
I I I I I I
I I ] I o I
I I = | I D =
I I = | I = I I =
IoF——a L % 1 9
[ [ [ [ &~ [ [l
I I I I I I I I
I I I I I I I I
I I I I I I I I
I I I I I I I I
I I I I I I I I
Y U S PR T 1 Ll e e e e e e e - — 1
50'-0" 50'-0"
! (Al (B]
SIDEWALL INSULATION: FRAME LINE A
[A] INSULATION: Banded Liner (R-25) W/ Thermal Tape
[B] INSULATION: 2"VRR (R-7)
I
I
I
I
I
I
. . . . . . . . . I
Z Q Q Q Q Q Qe Q z '
© © © © © © © © © f——— s fe— s :
= = = = = = = = = ! ! ! ! !
I I I I I
I I I I I
L —— =4 L =4 |
I
I
SIGNED
50'-0" 50'-0" 10/29/2024
[B] [A] ' EXPIRES: 12/31/26
REVISIoN "1 Pros  New Bus Barn 8/ 8/24
SIDEWALL INSULATION: FRAME LINE E | s, DATE:
_ . A | Issued For 8/ 8124 Bandon, OR 97411 KRREERK] DWG BY: LGA
[A] INSULATION: Banded Liner (R-25) W/ Thermal Tape Permits Only eal e Wall Insulation 3o :
[B] INSULATION: 2"VRR (R-7) ) X X R IR
peaLer:  SP Construction 208 B K CHECKED BY:
RIS
THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY PAGE: E8 OF E1 2
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
PERMISSION. 715 NOT T0 BE USED IN ANY MATTER THAT MAY MANUPRCTORED BYTROSSTT STROGTURES. NG 24-9076
g?gjg%“g:;‘,ﬁiTR'ME“T PIRECTLY OR INDIRECTLY TO TRUSS-T 2100 N. PACIFIC HWY.  WOODBURN, OREGON 97071  PHONE 503 / 981-9581 JOBID: )

Page 12 of 19



194-24-000247-STR

MEMBER TABLE
PARTITION 1

MARK PART

DJ-5 8C16
DH-5 8C16
G-24 8C16
G-25 8C16
G-26 8C16
G-27 8C16
BC-5 8C16

CONNECTION PLATES
PARTITION 1

01D [ MARK/PART

1|1 GGE+4

® ®
80'-0" OUT-TO-OUT OF STEEL

20|_0l| @ 20|_0l| @ 20|_0l| @ 20|_0l|

212" _ ,/;;Y;sﬂj’i‘z%;l;;\ _ 212"
12 e R e 12
) ,4”f2 G'?§§=§=§§§§Z§;\\\\\\
= \§§=\\\§§%\§§§‘Is\
o Ss==_ = =& _ - §~ -—_
T ) G-26 G-26 S D Sl
= T Ts= =i
_ol # ]
< I '
G-26 G-26 G-24 N
- I "H
-ol I I :
= < N t [
= o G-24 G-26 G-26 G-24 oy
] I pn ! 15 )
o I - I
] I ‘ M1 I
< I | I
o G-24 @5 G-26 B G-26 G-24 ;b
) i | z |
< : :: I & s E s I :: :
< I I
¥ o @ BC-5 K BC-5 o o BC-5 BC-5 L
_J I (1] T I
RF2-5 RF2-6 RF2-7
3'_0"
Field
PARTITION FRAMING: FRAME LINE 3
SIGNED
10/29/2024
EXPIRES: 12/31/26
REVISION Pl pros:  New Bus Barn .
DATE: 8/ 8/24
Tssted For 58I Bandon, OR 97411 SIS
. " . XX{ -
A [ Permits Only LGA| mme:  Partition Framing o S DWG BY: LGA
KRR
peaLErR: SP Construction E:% ‘ K AAA‘AA‘:?E CHECKED BY:
SRR R BRI
e S ety K PACIFIC BUILDING SYSTEMS PAGE:E9  OF E12
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN MANUFACTURED BY TRUSS-T STRUCTURES, INC.
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY JOB |D: 24_9076

CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T

STRUCTURES, INC. 2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981-9581

Page 13 of 19



194-24-000247-STR

SPLICE PLATE & BOLT TABLE

51_0!!

4!_0"

4!_0"

4!_0"

1 7!_0"

"\ FLANGE BRACES: Both Sides(U.N.)
FBxxA(1): xx=length(in)
A - L2X2X1/8

Qty
Mark Top Bot Int Type Dia Length Width  Thick  Length
SP-1 4 4 2 A325 1" 2 3/4" 6" 3/4" 3'-10"
SP-2 4 4 0 A325 3/4" 13/4" 6" 3/8" 2'-6"
SP-3 4 4 2 A325 7/8" 23/4" 8" 3/4" 3'-9 3/4"
BASE PLATE TABLE
Col Plate Size
Mark Width  Thick  Length
BP-1 6" 1/2" 111/2"
BP-2 8" 1/2" 111/2"

SSRC-2

MEMBER TABLE
. Web Depth Web Plate Outside Flange Inside Flange
Mark Weight Start/End Thick | Length W x Thk x Length W x Thk x Length
RF1-1 685 10.0/17.8 0.188 | 36.0 6 x 1/4" x 194.7 6 x 3/8" x 165.8
17.8/42.4 0.188 | 114.2 6 x 1/4" x 54.0
42.4/45.0 0.250 | 54.0
RF1-2 1117 36.0/30.0 0.188 | 57.5 6 x 1/4" x 181.9 6 x 1/2" x 202.6
30.0/15.0 0.188 | 144.0 6 x 3/8" x 240.0 6 x 3/8" x 235.4
15.0/17.9 0.135 | 96.0 6 x 3/8" x 12.0
17.9/22.0 0.135 | 144.0
RF1-3 1095 22.0/18.4 0.135 | 144.0 6 x 3/8" x 12.0 6 x 1/4" x 235.4
18.4/16.0 0.135 | 96.0 6 x 3/8" x 240.0 6 x 1/2" x 202.3
16.0/30.3 0.188 | 144.0 6 x 1/4" x 181.8
30.3/36.0 0.188 | 57.4
RF1-4 823 45.0/42.4 0.250 | 54.0 6 x 1/4" x 54.1 8 x 3/8" x 165.8
42.4/17.8 0.188 | 114.2 8 x 3/8" x 194.7
17.8/10.0 0.188 | 36.0

CONNECTION PLATES

O ID | Mark/Part

1 GFB-8
2 GFB-2

212" DN
12
| |
| |
<t N I !
Moo |
T | F “ |
R g g |
=D=h , —
S p S ~ o ¥ K
® o | Eg(f I
TR T : | : o
T 0 SIS 3
[T [T | |
NN i _ [ (=
=D Ehi- 2l 2] 1 E
5 g% I % 3 |
LL ~ ~
E E : x :Té :Té \& : :O.
I 2o 2o I =
| |
| |
- H —
| |
I | .
| | 5
| | <
| |
| |
! T7TT77777 - - - ; !
TP-1 BP-2
@; 3'-9 5/8" 71'-0 5/8" 3'-9 3/4" éﬂ
' ' CLEAR +/-
80'-0" OUT-TO-OUT OF STEEL
® ®
RIGID FRAME ELEVATION: FRAME LINE 2 4
SIGNED
10/29/2024

EXPIRES: 12/31/26

REVISION DATE
A Issued For 8/ 8/24
Permits Only LGA

pros:  New Bus Barn
Bandon, OR 97411

nirte:  Rigid Frame Elevation

peaLer:  SP Construction

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

% PACIFIC BUILDING SYSTEMS

b
o
MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981-9581

DATE: 8/ 8/24

IR 920-9°9-0-0-0-0-0=
LRI RRRRRRRRRA
% o DWG BY: LGA
X .

BRI
¢ ?o}oﬁo}oﬁo}o{oﬁ:t:ﬁ
;

::::: R T, Vo‘o‘o‘o‘o‘o‘o":::: CHECKED BY:
KR KKK RLKRKRKRKKKY  [RRRIRKKKKS

PAGE: E10 oF E12
JOB ID: 24-9076

Page 14 of 19




194-24-000247-STR

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

K PACIFIC BUILDING SYSTEMS

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981-9581

SPLICE PLATE & BOLT TABLE CAP PLATE BOLTS MEMBER SIZE TABLE
Qty MARK MEMBER | LENGTH WEIGHT
Mark Top Bot Int Type Dia Length Width  Thick  Length Mark Qty Type Dia Length RF2-1 WA8X35 163 7/16" 655
SP-1 4 4 0 A325 11/8 3" 8" 3/4" 20 3/4" RF2-5 4 A325 5/8" 13/4" RF2-2 W16X26 38'-8 1/16" 1113
SP-2 4 2 0 A325 3/4" 134" 6" 38" 1-71/2" RF2-6 4  A325 5/8" 13/4" RF2-3 W16X26 38'-8 1/16" 1113
RF2-7 4 A325 5/8" 13/4" RF2-4 W18X35 16'-3 7/16" 655
BASE PLATE TABLE RF2-5 W8X18 19'-0 1/4" 375
Col Plate Size RF2-6 W8Xx24 23'-1 3/4" 592
Mark Width  Thick  Length RF2-7 W8Xx18 19'-0 1/4" 378
BP-1 6" 1/2" 1-6 1/2"
BP-2 6" 1/2" 81/2"
BP-3 8" 1/2" 8"
"\ FLANGE BRACES: Both Sides(U.N.)
FBxxA(1): xx=length(in) SSRC-2
A - L2X2X1/8
21/2" DN
12
xa ol ..
o ! - - ! =
o | a o [ e
I w (%) I
| |
[ , [
- - @ 0|3 = -
I ML Bl I
! ! . 4 <[5 . ! !
. | © | © ! :
< ! o S ?I NO E 1' N~ | (=]
S [ N - - N [ S
. ! d = % = % 4 ! .
b | ! L ! L | b
' = |4 o | = |5 '
. i T X[F | <o <[ | SIS — =
- | D [14 e« ! -
0 T o5 & |
. ! | 5 o] ! .
e [ [ >
| |
| |
! - - i
| |
| |
- I I -
& | | 5
e [ [ >
| |
| |
BP-1 BP-2 BP-3 BP-2 BP-1
o o
5. 5.
8| — 17'-10 5/16" 17'-10 5/16" — | 8"
CLEAR +/- CLEAR +/-
20!_0" 20!_0" 20!_0" 20!_0"
©
80'-0" OUT-TO-OUT OF STEEL
® ®
RIGID FRAME ELEVATION: FRAME LINE 3
®
MAIN FRAME COLUMN
STIFFENER ON BOTH SIDES %
OF WEB (8" MIN. LENGTH) \
PORTAL PORTAL
COLUMN COLUMN SIGNED
@ @ 10/29/2024
@ ﬁ EXPIRES: 12/31/26
—— REVISION DATE RS
pros:  New Bus Barn E:i:i DATE: 8/ 8/24
. Ssued For 8/ 6124 Bandon, OR 97411 ] ) B _
TYPICAL KNEE DETAIL AT LINE 3 A permits Only LGA| Tme  Rigid Frame Elevation 32 ' EE:?,;,;,;,;,;,;,;,‘ DWG BY: LGA
. X 0303 TR 0002039200930
peaLer:  SP Construction R R % A CHECKED BY:
O rosrrrlsed  RrrmsasasasiR] T,
RO BRSUEKLS RSB BREEEEEEKS

PAGE:E11 oF E12
JOB ID: 24-9076

Page 15 of 19




194-24-000247-STR

SPLICE PLATES & BOLTS MEMBER SIZE TABLE
Splice Quan - BoIt--'——— _ Plate Si;e MARK MEMBER LENGTH
Mark Top/ Bot Type Dia Length Width  Thick  Length WE=2 WA6X40 22'3 3/4"
SP-1 4 4 A325 11/8" 31/2" 8" 1" 1-111/2" WF-1 W16X40 15'-3 13/16"
SP-2 6 6 A325 1" 31/4" 8" 1" 111" WF-4 W16X40 22'-3 3/4"
WE-3 W16X40 15'-3 13/16"
[ r---r—-—"+">">""""""""""™"""™>"™"™"™"™"™"*"™"™>"™"™"™"*>"™"™"™"™"™"™"™""™>"™"™"™"™"”"™“"“""“>"™"™"™>"™"™"~>"™""™77 1 [ r---r——"""""""""""""""""™"""™""™"™""™*"™"™""™"*""""*"™"™"™""™"™"™"™"™""™"™"™"™""“"™"”/-~"~=""=7 "7~ 1
I I I I
- WF_2 ey peng WF_4 ey
3 3 o o
o o o o
75} 7} 7] 7]
© ©
ol & ol ®
~ o & oo
BE: Loy i BE: N i
- 2 o = i 2 S =
i R
3o o
i B! B! B!
© © © ©
} [} } [}
1/8" | 1'-4" 22'-3 3/4" 1'-4" 11/8" 1/8" | 1'-4" 22'-3 3/4" 1'-4" [1/8"
CLEAR +/- CLEAR +/-
25’_0" 25’_0"

2 3 4 3
8 PORTAL FRAME ELEVATION: FRAME LINE A 8 8 PORTAL FRAME ELEVATION: FRAME LINE E 8

-7 (2) 5/8"x1-3/4" [T] VR PORTAL
A325 BOLTS —\ (1 FRAME COLUMN_\ COLUMN
A-A \ L .
] ]
nini| 71
FRAME COLUMN SEE TABLE FRAME COLUMN |
- { FOR BOLT SIZE PORTAL { :
) — RAFTER (2) 5/8"1-3/4" SIGNED
N A325 BOLTS 10/29/2024
| t| AA /
: PORTAL ik BORTAL =i | EXPIRES: 12/31/26
=3 I 1/2" COLUMN 7 COLUMN 5 |
i I o | o | of I REVISION DATE
I of | | of PROJ: New Bus Barn DATE: 8/ 8/24
) " " EA = == . X N 9 TR GO 999-9-0-0-0=
BOLYS 0 4 rofe — - —l © A\ [ Tssued For 8/ 8/24 Bandon, OR 97411 RN 2R ERR WG BY: LGA
| Permits Only LGA] 7ime:  Portal Frame Elevation KXz 77> '
| \ SECTION A-A | SECTION A-A . ' LRI
! PORTAL COLUMN peaLer:  SP Construction &R L R CHECKED BY:
! COLUMN WEB o R
|
// .
— PORTAL COLUMN TS SEAVING LU DESION PRINGIPES 19T Frorenty PAGE:E12 OF E12
HAUNCH DETAIL AT PORTAL PORTAL FRAME CONNECTION PORTAL FRAME CONNECTION eSO 1 OO R TR T e 24-9076
CONSTTAE PETRNENT ORECTLY O ORECT To T ST ——p————————

Page 16 of 19



194-24-000247-STR

1/2"x1-1/4" FINHEAD
ERECTION BOLT

PURLIN

PURLIN

PURLIN CLIP w/ (2) #10 PANHEAD
(4) 1/2'x1-1/4" SCREWS

GR5 BOLTS ROOF PURLIN EAVE STRUT )
® x4 L __\ _____________ R Y A e
GR5 BOLTS AT LAPS - ™

/— FRAME/ ENDWALL COLUMN

PURLIN
PURLIN

| _ 4
. o\ © )| ek | ===
|
| 0 0 ’. /
I YT (2) #10 PANHEAD
| © -] , @/ \ AT STRAP LAP
Lee———— —_—— - == ; -oe--=-=2 A/ N\ u) L —
Vi 7
v —
| FLANGE BRACE //’ //’ ) -
PLATE w/ 1/2"x1-1/4" s _— ) #10 PANHEAD
| " GRs BOLT 77 I'BC22- wi(2) AT EACH PURLIN . STR2
_\ . /\ 1410 PANHEAD 3 24ga x 2" (MIN) STRAP
RAFTER @ | 7 . FLANGE BRACE EACH END STR2 wi (1) #10 PANHEAD
. . | . ’ae,’ SEE ELEVATIONS INSTALL BESIDE 24ga x 2" (MIN) STRAP AT EACH PURLIN
1/2°x1-1/4" FINHEAD | Ng N FOR LOCATIONS, STRAPPING
PURLIN ERECTION BOLT | SIZE, AND TYPE
&
(6) 1/2"x1-1/4" & ENDWALL RAFTER
CreRERATA @ ROOF STRAP BRACE DETAIL ROOF STRAP BRACE DETAIL
- PURLIN TO ENDWALL RAFTER
TYPICAL PURLIN LAP TYPICA (AT EAVE) (AT STRAP LAP)

PURLIN

STR-2

24ga x 2" (MIN) STRAP
w/ (2) #10 PANHEAD GIRTS
AT EAVE STRUT

PEAK (2) #10 PANHEAD

PURLIN

PURLIN

STR-2
“ 16ga x 2" (MIN) STRAP
w/ (2) #10 PANHEAD

[/
I
_/
GABLE ANGLE :
| |
| | AT GABLE ANGLE | A o
- I I I ] #10 PANHEAD ==
-7 I (2) #10 PANHEAD I -—-=- I R .
I AT STRAP LAP I I ] --
| | I | — \
| | ENDWALL | y | STR=2
OUTSIDE RAFTER OUTSIDE 4 "
| | | "
OF WALL ——=! OF WALL - ’ 24ga x 2" (MIN) STRAP
[ STR-2 : : , /(1) #10 PANHEAD
| g
OUTSIDE | [ 24ga x2" (MlN) STRAP OUTSIDE | | Vi ] AT EACH GIRT
OF WALL ——== I w/ (1) #10 PANHEAD OF WALL ——= _/‘l/',f’ |
1 AT EACH GIRT | AT BASE ANGLE 7 |
| | ¥4 |
STR-2 STR-2 I ! I
" 24ga x 2" (MIN) STRAP I I
24ga x 2" (MIN) STRAP IRT IRT |
w/ (2) #10 PANHEAD GIRTS : GRS~ j—Mm™————\ |  mm—mm———a -
AT EACH PURLIN (1) #10 PANHEAD (1) #10 PANHEAD
(1) #10 PANHEAD AT EACH GIRT | AT EACH GIRT BASE CHANNEL
| OR BASE ANGLE
IR . : EAVE PURLIN
(AT MID-SPAN) (AT PEAK) (AT BUILDING EAVE) (AT STRAP LAP) (AT BY-PASS RAFTER) (AT BASE) BUILDING EAVE
. * OFFSET DIMENSION FLANGE BRACE
LEP or HEP w/ #12x1 PURLIN EAVE STRUT AT FLANGE 4 ENDWALL RAFTER PLATE w/ 1/2"x1-1/4"
TEK SCREW @ 1'-6" olc 3" FLOATING CLIP EégESLHSETEATTJG PLAN P 8"-9" FLANGE : 5" ENDWALL COLUMN GR5 BOLT
[200FCLIP] w/ - 10" FLANGE : 6" -
- (2) CLIP SCREWS SLOTTED RAKE SUPPORT w/ -= GIRT CLIP w/ (2) 1/2"x1-1/4" o
,,,,, E #12-14x1-1/2" SHOULDER TEK GR5BOLTS FLANGE BRACE
_ 2B @ IATE _ _——— @ 2-0" o/c (NOT AT PURLINS) ; ENDWALL RAFTER ENDWALL RAFTER SEE ELEVATIONS
- jf. @HiGn P~ : N FOR LOCATIONS,
_ - - ) A ! > y :— GIRT CLIP N\ SIZE,AND TYPE
- 3
| o | @ (6) 1/2"x1-1/4" AN
1" : : : GR5 BOLTS NN
) \
_ - | e _ -~ ___ A e
: ”””” | o | : o 1I— < —\\\ - \—\
! .\\_ ______ D S S 10 o o 07,0
! | B C 0 "o o *
! ! GABLE ANGLEw/ ! N FINHEAD
| [ p 'o o!
! | #12x1" TEK SCREW AT WALL GIRT I BOLT I
I : EACH PURLIN SEE ELEVATIONS \— SEE ELEVATIONS e - e R e = R
| " " " "
. CLIP SCREWS: | FOR BOLT SIZE FOR BOLT SIZE 1 2" | 2 1
Insulation 0-3.99" = #10-16x1" PAN-HEAD SCREW Lo e _____
Insulation 4-6.00" = #12-14x1-1/2" TEK SCREW N LAP PER ELEV. LAP PER ELEV.
EAVE PURLIN ENDWALL COLUMN ENDWALL COLUMN

STANDING SEAM PANEL - - _
BUILDING EAVE - SSQ STANDING SEAM HIGH CLIP AT BLDG GABLE @ ENDWALL COLUMN TO RAFTER @ CORNER COLUMN TO RAFTER @ ENDWALL COLUMN AT FLUSH GIRT LAPPED BY-PASS GIRT

/\_/ * OFFSET DIMENSION CONNECTION PLATE
8" JAMBS :2"

T SIDENALL GIRT FOR PLATE & BOLT SIZES
/— 10" JAMBS . g LAP PER ELEV. LAP PER ELEV.
12" JAMBS 14"

| ENDWALL RAFTER
| GIRT CLIP w/ DOOR JAMB -
|

|
| |
|
I I | L o | o vl
IE : CORNER COLUMN I (4) 1/2x1-1/4" GRS BOLTS [ j“ ‘T
) | I GGE-4 CLIP w/ (o © | © - I-q9-=-=-—---I= m— === :
| | : 0 0 4 ANCHOR BOLTS (2) 1/2"x1-1/4" | :: 'o FINHEAD © | &
lfle o] | ENDWALL GIRT i (BY OTHERS) FINHEAD BOLTS Lo ' BOLT ' e
| ] Y 'o <1 0!
HE----+1- /- : o0 ENDWALL ! : I o) o I f N !
! ! | /GIRT o I GGE-4 CLIP | :: 'o o o °/|/°/\ )
|| © e o o | === - ) I e AY A 70 | ROOF STRUT
| ' o o o ) -~ JAMB AT i\ . 1341 34 = P |
| o © | : X L | OPENING RNt & _l<>_l<>_l (6) 1/2"x1-1/4" s | @
||o o [ | | (2)1/2" ANCHOR BOLTS o P N | I I GR5BOLTS 7 g / . |
\ BY OTHERS I | ’
e e e T T ; o o\ 'oe © < :l ( ) ! L - .’ 112" © o PURLIN CLIP 7 )"¥ rarter /1l
CLIP w/ - _—%® _____ " " 7 7 FLANGE BRACE ROOF STRUT CLIP
(4) 1/2"x1-1/4" GR5 BOLTS \_ -——- -———- R T - - i ': SEE ELEVATIONS FRAME RAFTER A SEE ELEVATIONS CLIP PL 3/8" x 6"
GCP-8 CLIP w/ GCP-8 CLIP w/ \_ SASE PLATE on ¥ :, FOR BOLT SIZES 731 e FOR LOCATIONS, w/ (2) 3/4" A-325 N BOLTS
(6) 1/2"x1-1/4" GR5 BOLTS ontan (6) 1/2"x1-1/4" GR5 BOLTS | . \ ﬂ SIZE, AND TYPE
GCA-18 w/ low
" FLANGE BRACE
(2) #12x1" TEK SCREWS g&g;zéLDTEK SCREWS PLAN ELEVATION ENDWALL COLUMN PLATE w/ 1/2"¢1-1/4"
_ EACH END _ _ _ GR5 BOLT
FLUSH ROOF STRUT
CORNER AT BYPASS GIRTS CORNER BY-PASS GIRTS BASE PLATE AT DOOR JAMB RAFTER CONNECTION AT PEAK LAPPED PURLIN TO RAFTER
E3 | BASE PLATE FOR EW COLUMN TO RIGID FRAME RAFTER
GFB-8 CLIP w/ FLANGE BRACE
(2) 1/2"x1-1/4" GR5 BOLTS COLUMN PLATE w/ 1/2"x1-1/4"
/ _\\ 7 GRS BOLT EAVE STRUT
N}: SEE ROOF PLAN EAVE
FLANGE BRACE _ STRUT
SEEELEVATIONS | Y _—---—"— ' '~ _
N FOR LOCATIONS, |
GIRT CLIP N SIZE ANDTYPE |
(6) 1/2"x1-1/4" AN :
N - GR5 BOLTS \\ \\ !
- N
E— - —ro—- s - - - *\;\L- ~o--- Lo __ SIGNED
GFB-2 CLIP w/ s 1@ 0 o 2N 10/29/2024
(6) #12x1" TEK 3 SCREWS z* © : 0 \o & : > EXPIRES: 12/31/26
o "N— FINHEAD o'
I BOLT | (4) 1/2"x1-1/4"  ENDWALL
e --q4-=-------|- - GR5 BOLTS RAFTER REVISION DATE
A EL 2|2 1 pros:  New Bus Barn DATE: 8/ 8/24
FLANGE BRACE w/ 2020202000020, CR XA XXX X XN
(1) /21 1/4" GRS BOLT LAP PER ELEV. LAP PER ELEV. SECTION ELEVATION A Issued For 8/ 8/24 Bandon, OR 97411 eietedsleiotess; R sedodvieieioliied DWG BY: LGA
EACH END Permlts Only LGA TITLE: Detall DranngS 0% i’.’;‘;’;’;‘;‘;‘;Q‘ .
_ _ ; [ REKHKKIRXEKKN
peaLer:  SP Construction R0 K 4 Booss CHECKED BY:
BRACE PLATE AT LINER LAPPED GIRT TO COLUMN EAVE STRUT TO ENDWALL RAFTER K o Koo oo -
::::: IR RRRRXKKRRRKY  [RRRRXRRKKY
s bAIG oL Do pnES, e PrOPETY %4 PACIFIC BUILDING SYSTEMS PAGE: D1 OF D3
COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN MANUFACTURED BY TRUSS-T STRUCTURES, INC. 24 9076
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
JOB ID: -
R oTURES G MENT DIRECTLY OR INDIRECTLY TO TRUSS-T 2100 N. PACIFIC HWY.  WOODBURN, OREGON 97071  PHONE 503 / 981-0581

Page 17 of 19




194-24-000247-STR

120"

AT PURLIN/ GIRT
#14 STITCH SCREW

#12 TEK SCREW

#12x1" TEK

SCREW @ 4'-0" o/c

BANDED LINER
WALL SYSTEM

| — BC33 SUPPORT ANGLE w/
#10x1" PAN-HEAD SCREW

BANDED ROOF
LINER SYSTEM

ENDWALL RAFTER —/

#12-24x1-1/2" TEK
SCREW @ 4'-0" o/c

SEALANT ON TOP FLANGE
OF PANEL (6"MIN.)

* OFFSET DIMENSION ROD SIZE__ SLOT SIZE
8"JAMBS 2" EAVE STRUT M - T TR
10" JAMBS 237 e P! Lo DOOR HEADER 58" - 34" 1Tx 2"
12"JAMBS 4 - - P! | 7/8" - 1" 2 1-1/8" x 2-1/2"
EAVE STRUT ! ' N 1-1/8" - 1-1/4" - 1-3/8" x 4"
| : A-A :_'r I AA GGE-4 CLIP |
- : Ao | }/F |
- GGE4 CLIPS w/ GDJ-2 JAMB CLIP w/ GGE-4 CLIP w/ GGE-4 CLIP w/ | ROD BRACE
“““ 5\2% 1J’§Jé‘;/‘(‘z)ﬁ';\“,,*x'51’_\5 BOLTS (2) 1/2"1-1/4" GRS BOLTS (4) 1/2"x1-1/4" (4) 1/2"x1-1/4" | AR 2. |
(@) 1/2"x1-1/4" GRS BOLTS AT GIRT AT EAVE STRUT & GR5BOLTS GR5 BOLTS o o ¢l | !
GR5 BOLTS (4) #12-14x1" TEK SCREWS
DOOR JAMB AT JAMB -
\ GIRT &
I T 2 B (el N W Gy wall Y : o © e HILLSIDE WASHER
| B il ) arT— \ J
|
: © ',IQJ 0 0 (2) 1/2"x1-1/4" FLAT WASHER
| FINHEAD BOLT N
GIRT !
FRAME COLUMN I : ) . I~/ SLOT IN WEB TO >
| //_\_// //\_// (2) 1/2"x1-1/4" GR5 BOLT INSERT EYE BOLT
: DOOR JAMB DOOR JAMB
SECTION ELEVATION SECTION ELEVATION LN\ poor s SECTION A-A SECTION A-A SECTION A-A COLUMN OR RAFTER WEB — 7] BRACE NUT
w
EAVE STRUT TO RIGID FRAME WALL GIRT TO DOOR JAMB DOOR JAMB TO EAVE STRUT @ DOOR JAMB TO WALL GIRT @ DOOR JAMB TO WALL GIRT DOOR HEADER TO DOOR JAMB @ DIAGONAL ROD BRACE
STANDING SEAM PANEL —
ENDWALL RAFTER
Cee Or Zee WALL GIRT -7
'
WALL PANEL #12 X 1" DJ- g SUB-JAMB
SUB JAMB ’ -
ENDWALL RAFTER
BASE GIRT TEK SCREWS ﬂ/’ /_ (PER ELEVATIONS) e
/
#12x1 114" TEK . k% ) /
scRewe@e'oc. - [ ( / 1 7T/ 11T N~ i = [ L GGE-4 CLIP |
CONCRETE ANCHORS | 1
WALL PANEL BASE ARE BY OTHERS i
(By Others) CHANNEL |
__ o INSULATION \
1112 THERMAL BLOCK ‘\
Io
_____ _ \
M === === SNAP-IN DOOR CLIPS AN
BD FASTENER 4 INSTALL (3) PER DOOR JAMB, N
BASE TRIM (BY OTHERS) Insul Thick | Fixed Clip__|Low System | High System (1) AT EACH HINGE HEIGHT N {
—————————— GGC-8 CLIP W/ No Insulation |Recommend | 3/8" Spacer |Use Low Sys =< BEND SNAP-IN CLIP OVER
FOUNDATION FASTENER [2'%1-1/4" GRS BOLTS GgE'4 gup wl (4) 1/2'x1-1/4" GR5 BOLTS AT GIRT & 2" Insulation Use Low Sys |No Spacer 1" Spacer STEEL DOOR FRAME SUB-JAMB AND INSTALL
FOUNDATION (BY OTHERS) (BY OTHERS) (2) 112°1-1/4" GRS BOLTS AT GIRT (2) 1/2'1-1/4" GRS BOLTS AT RAFTER 3" Insulation_|Use Low Sys |No Spacer __|5/8" Spacer + SQUARE AND PLUMB SUB FRAME (2) #10 PAN-HEAD TEK
(BY OTHERS) (2) 1/2'x1-1/4" GR5 BOLTS AT PL-3 3.5" Insulation | Use Low Sys |No Spacer _ |5/8" Spacer PRIOR TO DOOR INSTALLATION. SLIDE SCREW AT EACH LOCATION
4" Insulation JUse Low Sys |No Spacer 3/8" Spacer .
Cee Or Zee WALL GIRT 6" Insulation |Use High Sys [Use High Sys [3/8" Spacer XVQ'SRR(N)(S)FATJ,\?GF?QEAERSPP_F,\‘NING
cLIPS
SECTION THRU WALL PANEL WALK DOOR DETAIL
T4 | BASE TRIM DETAIL @ PARTITION WALL W3 | ENDWALL GIRT TO RAFTER W7 | ENDWALL GIRT TO RAFTER STANDING SEAM THERMAL BLOCK WALK DOOR DETAIL (Pre-Assembled - Girt Atiachmen)
------------ SSRC- RIDGE CAP #14x7/8" STITCH SSRC-
....... __ (TYP (5) PLCS) RIDGE CAP
N T T T T T T T T T s s s s s e e e e FIELD APPLIED NON-SKINNING

___________ | =—====; '$AT e BANDED LINER £ \‘2/?‘\
| & | & | & | & | & | ! ! : SYSTEM RSC RIDGE CEE
= ' ' ' ' | SUPPORT ANGLE ' : : ENDDAM
AT PANEL ENDS ! : 7 BC24 . \_ PANEL CLIp  (SEE DETAIL)
#14 STITCH SCREW | ' b o co ! RIDGE CAP
a2 : :\\ :?\ BANDED LINER CINER SveTEn /): ORRAFTER SYMMETRICAL ENDCAP
BETWEEN PURLINS/ GIRTS e :: ~ PEAK BOX (2Peak)
PBR PANEL SCREWS BANDED LINER AT EAVE BANDED LINER AT CORNER BANDED LINER AT ENDWALL RAFTER BANDED LINER AT FRAME RIDGE DETAIL RIDGE ENDCAP DETAIL
(112 - 412 8" GIRTS) (BY-PASS GIRTS) (BY-PASS ENDWALL) (BY-PASS SIDEWALL)

POP RIVETS

N

GUTTER ENDCAP

SGT-2
GABLE TRIM

GUTTER

CORNER BOX

CORNER BOX AT GUTTER

(4) #12x1-1/4" TEK
SCREWS PER PANEL
¥

(3) #14x7/8" STITCH
SCREWS PER PANEL

TRANSITION TRIM
1/8"x1" MASTIC TAPE

1} 1

16ga ENDDAM

* SEALANT IS NOT REQ'D
AT SIDES OF PANEL

ENDDAM DETAIL

ENDDAM
1/8"x1" MASTIC TAPE

SSR-218 PANEL

SECTION A-A]

PANEL / TRIM
DEPTH

o

EC2
EAVE CLOSURE
LAP ENDS 2"

|
OUTSIDE OF /
PANEL / TRIM !

STANDING SEAM 0-2:12 GUTTER

FIELD APPLIED NON-SKINNING
SEALANT ON TOP FLANGE
OF PANEL (6"MIN.)

TUBE SEALANT
(BETWEEN PANEL RISES)

1/8"x1" MASTIC CONT.
BETWEEN PANEL &
EAVE PLATE

POP RIVET @ 5'-0" o/c

#12x1-1/4" TEK SCREWS
(4) PER PANEL

SSHG -
HANGING
GUTTER

OUTSIDE OF f
PANEL / TRIM :

2" PANEL GUTTER

SSHGS - HANGING GUTTER SUPPORT
@ 3'-0" o/c w/ #14x7/8" STITCH

[y

#14x7/8" STITCH
SCREWS @ 12" olc

SECTION A-A.

HANGING
GUTTER

DSP - DOWNSPOUT

HOLD DOWNSPOUT TO GUTTER AT DESIRED LOCATION
SCRIBE LINE AROUND OUTSIDE PERIMETER OF DOWNSPOUT
ON BOTTOM OF GUTTER. CUT ALONG LINES SHOWN IN

B-B
—

3" PANEL GUTTER

POP RIVETS
(AS REQ'D) \

/ \
| I\ /
OUTSIDE OF

PANEL / TRIM

/

DSS

S
SIDING —/

POP RIVETS
DSP - DOWNSPOUT

SECTION B-B

/— CUT LINES

BEND TABS DOWN
AS SHOWN IN
DOWNSPOUT DETAIL —\

DOWNSPOUT STRAP

I~

SECTION A-A
DOWNSPOUT SECTIONS

M SEAL AROUND
PERIMETER OF
DOWNSPOUT AS REQD.

BOTTOM OF
[ GUTTER
\

WALL SHEET

See Plans For

#14x7/7" STITCH

#12 TEK SCREW

0" to 3"
WALL SHEET

Panel Start

CORNER TRIM DETAIL

AT BASE, TOP AND EACH GIRT

SSC1 RAKE CLEAT w/
#14x7/8" STITCH SCREWS
@ 2'-0" o/c SET IN 1/8"x1"

MASTIC TOP & SIDE SGT2 HANGING

GABLE TRIM
LAP ENDS 2"

STANDING SEAM
PANEL

SSC1 RAKE CLEAT w/
#14x7/8" STITCH SCREWS
@ 2'-0" o/c SET IN 1/8"x1"
MASTIC TOP & SIDE

1
STANDING SEAM

|
PANEL :

--
|

| 0-3" MAX

| | PER SHEETING PLAN
|

| WALL / TRIM
IDEPTH

SSRS RAKE SLIDE w/

| #14x7/8" STITCH
I SCREW @ 2-0" olc
: AND AT EA. LAP
|

(e

BUILDING GABLE (START)

I

DEPTH

SSRS RAKE SLIDE w/
#14x7/8" STITCH
SCREW @ 2'-0" o/c
AND AT EA. LAP

-7

|

0-3" MAX |

PER SHEETING PLAN | |
|

|
WALL / TRIM |

BUILDING GABLE (END)

FIELD BEND PANEL AS
REQ'D AT ENDING PANEL
TO ATTACH SSC1 AND
SLIDING RAKE ANGLE

SGT2 HANGING
GABLE TRIM
LAP ENDS 2"

#12 TEK SCREW

[ JAMB AT
:// OPENING

FIELD TRIM SHEET
@ OPENING AS
REQD.

AT 2-0" O.C.

CF

JAMB TRIM DETAIL

EXPIRES: 12/31/26

10/29/2024

REVISION DATE
pros:  New Bus Barn
A Issued For 8/ 8/24 Bandon, OR 97411
Permits Only LGA] mme  Detail Drawings
peaLer:  SP Construction ok

XX =
9%

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY :0:0:
OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED, KX

COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN

PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

XX ERASAIIAXKA
] RIIRRKS
RO RRRRRKSS

PACIFIC BUILDING SYSTEMS

2100 N. PACIFIC HWY.

RSTTTITRS
202020102020:::::

Q
X

X2

%

R TSI,
REKRRRRERRKKY

MANUFACTURED BY TRUSS-T STRUCTURES, INC.

WOODBURN, OREGON 97071

CR XA XXX X XN
[RRRRRRRRRA

RS STRR
RRRIIIRRRS
REERRIEXRAIRY

0. 0.9, <A
AAAAA'Q‘:

OISR
Reteleteletele% e

PHONE 503 / 981-9581

DATE: 8/ 8/24
DWG BY: LGA

CHECKED BY:

PAGE: D2 oF D3
JOB ID: 24-9076

Page 18 of 19




194-24-000247-STR

#12 TEK SCREW
AT 2'-0"O.C.

| |

#12 TEK SCREW
AT 2'-0" O.C.

CF

JHW8 OR JHW10
/ JAMB WRAP

JAMB AT
OPENING

FIELD TRIM SHEET @
OPENING AS REQ'D

JAMB TRIM DETAIL

(WITH JAMB WRAPS)

#12 TEK SCREW
AS REQ'D.

WALL SHEET

HEADER AT ]
OPENING

HEADER TRIM DETAIL

#12 TEK SCREW
AS REQ'D.

#12 TEK SCREW
AT 2'-0"O.C.

Nmmfpm e e

HEADER AT OPENING J

JHW8 OR JHW10
HEADER WRAP

HEADER TRIM DETAIL

(WITH HEADER WRAPS)

WALL
SHEET

SILL AT OPENING

Fo——-
f
L.

#12 TEK SCREW

AS REQ'D. WALL SHEET

SILL TRIM DETAIL

10/29/2024

EXPIRES: 12/31/26

REVISION DATE
A Issued For 8/ 8/24
Permits Only LGA

pros:  New Bus Barn
Bandon, OR 97411

mirte:  Detail Drawings

peaLer:  SP Construction

THIS DRAWING INCLUDING DESIGN PRINCIPLES, IS THE PROPERTY

OF TRUSS-T STRUCTURES, INC. AND SHALL NOT BE REPRODUCED,

COPIED OR LOANED IN PART OR IN WHOLE WITHOUT WRITTEN
PERMISSION. IT IS NOT TO BE USED IN ANY MATTER THAT MAY
CONSTITUTE A DETRIMENT DIRECTLY OR INDIRECTLY TO TRUSS-T
STRUCTURES, INC.

RIS D9.9.9:0:0.9-0 0
PO [RIRRRRRRRA

X
@

Pl

XX
&R

X

vv
3%

2
2554

SRS SEBTIIIIIXKA

RIS KRRRRRRRRK X

XX

XX PACIFIC BUILDING SYSTEMS

<
X
MANUFACTURED BY TRUSS-T STRUCTURES, INC.

5

X

N
&

X

DO 9,
BRRIKRERLRKR

XX

2100 N. PACIFIC HWY. WOODBURN, OREGON 97071 PHONE 503 / 981-9581

DATE: 8/ 8/24
DWG BY: LGA

CHECKED BY:

PAGE: D3 oF D3
JOB ID: 24-9076

Page 19 of 19




	00 CS1-9076 Drawing Cover Sheet Model (1)
	01 F1-9076 Anchor Bolt Plan Model (1)
	02 F2-9076 Anchor Bolt Details Model (1)
	03 F3-9076 Anchor Bolt Reactions Model (1)
	04 E1-9076 Roof Framing Plan Model (1)
	05 E2-9076 Roof Sheeting Plan Model (1)
	06 E3-9076 Roof Insulation Plan Model (1)
	07 E4-9076 Sidewall Elevation Line XX Model (1)
	08 E5-9076 Sidewall Elevation Line XX Model (1)
	09 E6-9076 Endwall Elevation Line XX Model (1)
	10 E7-9076 Endwall Elevation Line XX Model (1)
	11 E8-9076 Wall Insulation Plan Model (1)
	12 E9-9076 Partition Elevation Line XX Model (1)
	13 E10-9076 Rigid Frame Elevation Line XX Model (1)
	14 E11-9076 Rigid Frame Elevation Line XX Model (1)
	15 E12-9076 Portal Frame Model (1)
	16 D1-9076 Detail Drawings Model (1)
	17 D2-9076 Detail Drawings Model (1)
	18 D2-9076 Detail Drawings Model (1)

